50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

method of section.

Fig.Q.2(a)(iii)

2(b) and tabulate the values.
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Module-2
a. Determine the maximum deflection at the free end of a cantilever beam subjected to udl of
w/mt run over its entire span ‘L’ with constant EI. Use: Macaulay s method. (06 Marks)
b. For the simply supported beam loaded as shown in Fig.Q. 3(b). Find the slope at A and B and
deflection at ‘E’. Take EI = 4000 kN-m’. Use m@mem area method. (10 Marks)

s0kN

& 9 (04 Marks)
b. For the simply supp@rted,v o fin Fig.Q.4(b). Taking E = 200GPa,
I = 7 x 10°mm®, Fm“ “the magnitude and locatlon of Max. deflection in the beam. Use
(12 Marks)

Y 4 '
a. Derive the expression fordhe strain energy store 1 a’ member due to ax1al force. (04 Marks)
b. Using castlgllano s appi @ch find the Vertlca and horlzontal deflection at ‘C’ of abent
loaded as shown in Flng (b). Take EI = Y 4 (12 Marks)

(10 Marks)

E
si?
B

3 3 s
_ﬂr__wm —,’-—lom-——r
Fig.Q. 6(a)

(06 Marks)
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Module-4

a. Show that the bending moment is zero at all sections of a.
to udl over its entire span.

b. A suspension cable has span of 120m and dips by 101 :
entire span. Find:

i) The length of the cable o

i) ~ Maximum and minimum tension in the_ cwble with its location and direction.

iii)  What could be the force transmltted%td’»the supporting tower w

abolic arch When it is subjected
4 (06 Marks)
d carries a load of 10kN/m over its

Lhen the cable passes

below crown point. The arch ,arrres a load of 80kN at dlstance of 4m to the left of crown C
and an udl of 15kN/m between crown and right support Find the B.M. under the point load,
max1mum bending momdnt on the right portron qf the arch. Also find normal thrust and

(16 Marks)
&
{ Modulef
a. Establish the ex;wessron for load positiot to get maximum bending moment at a section
drstance of ‘a’ from leﬂ support ‘A’ina 51mply supported beam AB of span
¢ (06 Marks)

Wheel loads shown irtl%Rrg.Q 10(a) moves( frorr
Find the absolute, maximum BM any Wh@fl;ﬁ ri the beam an also ﬁnd equivalent udl to be
placed over the énti ( (08 Marks)

Frg Q. 10(a)
> in member 1“@1* the truss shown Fig.Q.10(b) and hence find its

(08 Marks)

Fig.Q.10(b)

% % k % ¥

30f3




